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Unit 1B Day 16: () Solution and ©© Solution

Focus Question: How do I tell when an equation has no solution or infinite solutions?
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Use the equation 3 — 2x = 3x + 5 — 2 — 5x
*&\w - 2 :
~ % 1. Isx =6 asolution? V2. Is x = 0 a solution?
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<" 3. Is x = -2 a solution? 4. Can you find another solution? »* = -~
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I.- Solve the egu\atign to help you fill in the blanks:

~ An equation will have tkgg \ Y\ ﬁ£ _

(symbol: OO ) solutions when the
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have 4/\/ coefficients AND

i W LSO constants.

2. Do the following equations have oo solutions? Explain.

a. 3x+6=3x+6 w \ \\ have oo solutions because m QL (;@Q é (/{,\\Q;T

c. 2x—4=7x+2\N \ V\O’X’_ have oo solutions because Lbﬁg f( CD\(\SS( {4
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B. No Solution

Use the equation 6(x —4) = —12 + 6x
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Is x = 0 a solution? 2. Is x =2 a solution?
e =4 1 0D W Q-9 = —12% ((2)
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O 3 Isx=-42 solution? R 4. (Guess at another solution and check it. X
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5. Solve the equation to help you fill in the blanks:
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An equation will have M ®

(symbol: LE i ) solution when the
two @ X ¢ S5\ DD
have g&WUL coefficients AND

A\ggﬁx Q,y\“f constants.
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. —oXelia =X have @ solutions because
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b. %x — 2 = %x + 6
Soome Coess.
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have @ solutions because

have @ solutions because

have @ solutions because




